1161

Run Numbers

9/6.

G/6.

V.61

Aouaioiy3 e1o1



HMS Cal etottracknorm HMS Cer Npe Sum

SHMS Cal etottracknorm SHMS HGCer Npe Sum

SHMS Aero Npe Sum

L — pecut
10" = -— No cut
¥ —— No PID cut
"CTime_epCoinTime_ROC1" : (CTime_epCoinTime_ROC1 > ((0)-((4.008)/2.0)-(0.25))) & (CTime_epCoinTime_ROC1 < ((0)+((4.008)/2.0)+(0.25)).
“P_gtr_beta" : ((abs(P_gtr_beta-1)) < 0.3)
e "P_hgcer_npeSum" : (P_Rgcér_npeSum <= 5.0)
1

P_aero_npeSum
|_cal_etottracknor

i P_aero_npeSum <=5.0)
“P_cal_ "

(H_cal_etottracknorm > 0.7)
>=0.0)

: (P_cal_¢




HMS Cer Npe Sum

SHMS Aero Npe Sum

30

25

20

15

10

HMS Cal etottracknorm vs HMS Cer Npe Sum

)

1.4 1.6 1.8
HMS Cal etottracknorm

SHMS Cal etottracknorm vs SHMS Aero Npe Sum

SHMS Cal etottracknorm

o

500

400

300

200

100

SHMS HGCer Npe Sum

SHMS Aero Npe Sum

SHMS Cal etottracknorm vs SHMS HGCer Npe Sum

50

45

40

35

30

25

20

15

10

rIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

el Lo Lyl o

o

PR are o1 ool i W I P
0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8 0.9 1

SHMS Cal etottracknorm

SHMS HGCer Npe Sum vs SHMS Aero Npe Sum

(e AW FE NS NS NN NN NN N N R

10

20

25

35

40 45 50
SHMS HGCer Npe Sum




Electron-Proton CTime

— p cut H
Dummy i
No cut

— No PID cut .

1 1 | | 1 1 | | L1 | | 1 1 | | [ lI- L -='=|Lk | | | | | L1 | | 1 1 1 | 1 1 |

=
o

-8 -6 -4 -2 0 2 4 6 8 10



Electron-Proton CTime vs (MM)i

0.06

0.04

0.02

0

-0.02

-0.04

-0.06

-0.08

BT

8 -6 -4 -2 0 2 4 6 8 10
e p Coin_Time

—1250

—1200

150

100

50

0



HMS Delta

SHMS Delta

Emiss vs HMS Delta

20

15

10

-20 L

-0.1

Emiss vs SHMS Delta

Emiss

20

15

10

II|I.II1I]IIII|IIII|IIII

1

KR

o
IIII|IIII|IIII|I.I

-20

Emiss

70

60

60

50



HMS Delta

SHMS Delta

Pmiss vs HMS Delta

20

15

10

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-20

50

-0.1

Pmiss

Pmiss vs SHMS Delta

20

15

10

o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-20 L

Pmiss



Raster_X

Raster_X

0.25

0.2

0.15

0.1

0.05

0.25

0.2

0.15

0.1

0.05

Raster_X vs pmiss

35

30

=TT

Raster_X vs emiss

pmiss

llIIIIIIII'|'IIII|IIII|IIII|IIII|IIII

40

35

30

25

20

15

10

emiss



pmiss

Raster_Y vs

25

15

10

T
h-
i\ ' i
i 4
n 1z
o
Tl \ n ]
f ‘ ' I-I-h ]
1
Ty i
. i n e
¥ E
1
| ]
. 4
' <
1 —1<
[ ©
-
| ] 1 A
ﬁ:-- -
1
o -3
o S
ﬁ 1 T
" 1 A
1o
-"- ---- 1 1 do
-8
S
<
-3
=
©
43
=)
@
-3
=
_____________________________m_
te} n bl 0 o !
N <} — =] = =
IS} IS} IS} S

A laisey

pmiss

Raster_Y vs emiss

;:.-._

g

.ﬂia

10 1 10
N <} -
IS} IS}

A laisey

bl
[S)

_____________________________ﬂ_u____

0
=
[S)

-0.
%201

emiss



Raster_Y

Raster_Y

0.25

0.2

0.15

0.1

IIII|III'I|II|II|IIII

0.05

o
IIII|III.I

Raster_X vs Raster_Y

I
=4
o
a

0.25

0.2

0.15

0.1

IIII|IIII'I|IIl

0.05

o
IIII|III.I

0.25
Raster_X

%%

0.25
Raster_X

16

14

12

10

16

14

12

10



SHMS xfp

15 20 25

[ PRy SN R P B
10

'
e
—— + *
o + ¥
e + *
e 4
..|.|.I|1||.||T|T ..L
e __ 5
e - I..5
—t T
—— .
HM o
———  —— 4
———  ——— .
T E
R = b
A———  ——— |....O
e .
— i
— = = .
== —— —h— i
— —_— 4
—_ e -3
e e e et g
T, TS —
=l 41!
e
T e
I.I... — -
.ﬁ.l.l:ﬂ”l.l.. 3
o= R P 3
1 -
G 10
— o —— —
-+ S —
[ 1
B e aa !
S R e 2
"%+ l.
E £ e
z -0
= = : Hm..uwll
P =1 H +
o 3 = o ....m...m..,, I
o = o
= E Z 3 a H+m
z - &
= = z < < -t WL
g = s A )
= < 5 ¥ PN
7] a [a] T |
T
- +0
} Wd
o

o
_______________________________________..._m_.O

N o © ¢ o < o © 9« « O
i i i — (@] o o o



2.5

1.5

0.5

- DUMMY, INT =0 {
iHl

-~ DATA (no cut), INT = 112 ]l

SIMC, INT = 99 le
DATA, INT = 94 H]‘H]\#w

DATA (no PID cut), INT = 102

it T+
+
v i
!t Bt .,
e et W e
ST ey S o 2o g *f Lo e brgesn g by e Loy U it e b a0

|
N
(63}

-20 -15 -10 -5

0 5

10

15

20

25



0.8

0.6

0.4

0.2

SHMS xpfp

1.4F

1.2 u

Y

|
= W

—-0.08

—0.06 -004 -0.02 0

t e,

y |
g

T T PRSI Y
0.02 0.04 0.06

1 |
0.08




‘R |MI|M*HJ !
[ MHJ{ a "||‘|++
0.8/— lL' il
Food
0.6/— I-*
0.4 HM H_i
0.2 ++.}'+'+-*H *ﬂ+
E i *:; SR DI S PN %ﬁt‘ﬁt el

SHMS ypfp

— .05 -0.04 -0.03 0. 02 -0.01

001 0.02 0.03 004



1aH— !
i 1%
(=
H " | Wnl i || | N
0.8— | J””ml h ]
oo _]....l'}ﬂm H}
g Iﬂ ++Hl_
0.4 L *L.W ++ !
0.2 &#Léﬁfﬁfﬂhh ‘ Eﬁ_
04_()L.ﬁﬁﬁi+d' BT TR 6 El;Mk Eqm—




2.2

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

|
r\.)CD
o

15



HMS xpfp

|
0.04

0.02

=] o
[} X — ©
2 > = 1]
1] =1 a [
[ [ =
z < & & 3
AAAA
= = = =
AAAAA
DDDDD

© © < o < o © ¥ « O



3.5

2.5

1.5

0.5

SIMC, INT =99

DATA, INT =94

DATA (no cut), INT = 113

DATA (no PID cut), INT = 103

DUMMY, INT =0

— i
- + *}j'
- * L{f
- y *l1--
- i,
N 1 Tﬂml
- i i
: - -.'-""*..,**i _,: °f
L 1.1 1 | 1.1 1 | | I--L'M"%‘r..l “ -'r-.-l-.--!-'--l--l bl b I.l 1 1 I‘*""J-;L!. | | L_J 1 1
.05 -0.04 —-0.03 -0.02 —-0.01 0 0.01 0.02 0.03 0.04



SHMS xptar

|
|

i

\‘W}

|

|

| l“:'HNll

W
0

W




SHMS yptar
o i

P

i

i|+

B DUMMY, INT=0 4 i
0.8H w.
B T4
B 1]+
+
4 !




HMS xptar

SIMC, INT =99
DATA, INT = 94

DATA (no cut), INT = 113 | W
DATA (no PID cut), INT = 103 |||
DUMMY, INT =0

|

|

mm

}
v

|

~,WUW

MJ

i

n'

i

U’” |

|

|

|

|

i




HMS yptar

3 || SIMC, INT = 99 lh‘”:‘”
N DATA, INT = 94 HH{H]‘
25H —— paTA(nocu, INT=113 L ]‘ ][
- i !
E DATA (no PID cut), INT = 103 | H]lL“l}H }]lL
2 [ | —— oummy,inT=0 bﬂ#ﬂm H *
B __ﬁHH{ i
1.5 . __ﬁ 1
B i
- i |
- Ly t
1— Hl ]
- I 1_
0.5 :— ﬁ* *T_
B *+ j#;'_
0 Tl v L b Lo e bope Loy L0 0 L
-0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08

0.1



SHMS delta

E SIMC, INT =99 ]
B DATA, INT =94 l*jl*ﬁ1
2.5 ' A
: -~ DATA (no cut), INT = 113 ]l ]l
2 E DATA (no PID cut), INT = 103 Jrhl \ﬁ’r
| —— pummv.INT=0 Hll l{hh
1.5 :— f Hﬂn
- | {11‘
B f |
1 :— +l Jrj:]h
0.5 _ ﬂ *11
- i 3
B wgtﬂﬁ J‘t
0 B 1 1 1 | | 1 1 1 | I——‘b— | |' | I LT I- S I I [ | ol T [ S § I. [ I S & l [ P |

-20 -15 -10 -5 0 5 10 15 20



2.5 e e "
| DATA, INT = 94 ++F'I'.lfr 1m|HH|h1
N DATA (no cut), INT = 113 l{rT # HHH]‘H fr]l
oH g i #l Hi |
B DATA (no PID cut), INT = 103 f H}]l * ]l ]l ]‘
- | [ *
1.5 | - DUMMY, INT=0 *'|']! {}
- e *_
- H{ f
¥ | ‘-
11— jlﬂ ]
B b j
0.5 - H nﬂfﬂﬂﬂ 1
- o i
e S I S R

HMS Delta




Q2

- ) f
SIMC, INT = 99
8 f
L ] H__
— DATA, INT = 94 | A
7E Hf
— DATA (no cut), INT = 113 } +'++
— i
6 ] DATA (no PID cut), INT = 103 +{.+
— i
| DUMMY, INT =0 4 ++..
51 L
— #
- b
40— 1
— t
- i
3— t t
| +
2 1
— A
1__ __--11" i
— A
I su__‘ "
O_II N TR AN SN AT TR SR BN AT ST AU ol BEUR TN A ORI AT AR ST A AN R
0 1 2 3 4 5 6 7 8 9

10



epsilon

SIMC, INT =99

DATA, INT =94

DATA (no cut), INT = 113

DATA (no PID cut), INT = 103

DUMMY, INT =0

R 4
|IIII|IIII|IIII|IIlI.'I.I.-l-'--l--.-l-'."--.l.l"lI|IIII|IIII|IIII

-

1
¥

Y

0.

5 0.55 0.6

0.65

0.7 0.75

0.8

0.85

0.9

0.95

1



(MM),

——— SIMC, INT =99
40 ——— DATA, INT=87 *
DATA (no cut), INT = 97
35 —— DATA (no PID cut), INT = 94

DUMMY, INT =0
— SIMC, MEAN = -0.000

—— DATA, MEAN =-0.001

30

DATA (no cut), MEAN = -0.001

DATA (no PID cut), MEAN = -0.001

25

DUMMY, MEAN = -0.005

20
15

10

II|IIlJJ4LI1"—-‘——J"‘:C:i;:I|E:PHJ~I|III|IJL[1ILIILI
—-0.008 -0.006 -0.004 -0.002 0 0.002 0.004 0.006 0.008 0.01

=)

o
[y



Phi Detected

10

— SIMC, INT =99

——— DATA, INT =94

— DATA (no PID cut), INT = 103

— SIMC, MEAN = 3.084

——— DATA, MEAN =-1.147

———— DATA (no PID cut), MEAN = -1.145

DATA (no cut), INT = 113

DUMMY, INT =0

DATA (no cut), MEAN = -1.085

DUMMY, MEAN = -0.366




40

35

30

25

20

15

10

Theta Detected

SIMC, INT = 99
DATA, INT = 94

DATA (no cut), INT = 113

DATA (no PID cut), INT = 103
DUMMY, INT =0

SIMC, MEAN = 0.007

DATA, MEAN = 0.012

DATA (no cut), MEAN = 0.017
DATA (no PID cut), MEAN = 0.013

DUMMY, MEAN = 0.036




Phi Recoil

— DATA, INT = 94
— DATA (no cut), INT =113 *
5 : DATA (no PID cut), INT = 103
: DUMMY, INT =0 H}
- DATA, MEAN = 0.887 Jr 1H+
B DATA (no cut), MEAN = 0.814
41 oot
— DATA (no PID cut), MEAN = 0.887 } H Jr
B DUMMY, MEAN = 0.191 Jf 1
B Ty
3 I * -+ +
B potot
L , }
fod4
I 1 ¥
L Kt
4 3
- i i
- f 1
1— S 11
L *t**iﬂhﬂa\ﬁ*ﬁ-fﬂﬂ**
o_lllllllllllllll.l..l..-l.l-l-l.lllllllllllllllll
-10 -8 -6 -4 -2 0 2 4 6 8 10



lo
[N
o

Theta Recoll

DATA, INT = 94

DATA (no cut), INT =113

DATA (no PID cut), INT = 103

DUMMY, INT =0

DATA, MEAN = 1.538

DATA (no cut), MEAN = 1.450

DATA (no PID cut), MEAN = 1.535

DUMMY, MEAN = 1.264

4




pmiss

—— DATA,INT=72 )

——— DATA (no PID cut), INT = 79

—— SIMC, MEAN = 0.018 t

—— DATA, MEAN = 0.028 +

———— DATA (no PID cut), MEAN = 0.028 +

SIMC, INT = 83
DATA (no cut), INT = 79

t o+

DUMMY, INT =0

DATA (no cut), MEAN = 0.028

DUMMY, MEAN = 0.081 +

. ity
% e,

e .
11 | 11 1 | 11 1 | 11 1 | 11 1 L—-’ 11 1 | 11 1 | 11 1 %‘W‘%}ﬁ

-0.08 -0.06 -0.04 -0.02 0 0.02 004 0.06 0.08 0.1



emiss

| —— sIMc, INT=83
: ———— DATA,|INT =74 t
+
7 : DATA (no cut), INT = 82 +
—| ——— DATA (no PID cut), INT = 81
- DUMMY, INT =0 ‘
6 || —— siMc, MEAN =0.010 ‘
—| ——— DATA, MEAN = 0.001
- DATA (no cut), MEAN = 0.001
5 || ——— DATA (no PID cut), MEAN = 0.001 v
— DUMMY, MEAN = 0.025
I +++ +
L +++"1Jr +
3 B # ’rJr
L # '
— ¥
2 P
— 4
4
- + ++: .
— ! . 1111 +
1 ! .
— E oo~
— st - H&# o
— < - e S
A g e e L T 1 VO M i e e e e

o

-0.1 -0.08 -0.06 -0.04 -0.02 0 0.02 004 0.06 0.08 0.1



3.5

2.5

1.5

0.5

0

-0.1 -0.08 -0.06 -0.04

SIMC, INT =89

DATA, INT = 82

DATA (no cut), INT = 92

DATA (no PID cut), INT = 89

DUMMY, INT =0

SIMC, MEAN =-0.010

DATA, MEAN = -0.006

DATA (no cut), MEAN = -0.006

DATA (no PID cut), MEAN = -0.006

DUMMY, MEAN = -0.015

; ,,%&Waw
l L | L1 1 l | L1 l 1 L l | | L | | L L ‘l-— L | M’“TMWM“M'L‘ ez bowoal

-0.02

0

0.02

0.04

0.06

0.08

0.1



pmy

(6]
[ T T[T

SIMC, INT = 99
DATA, INT = 89

DATA (no cut), INT = 102

DATA (no PID cut), INT = 97
DUMMY, INT =0

SIMC, MEAN = 0.000

DATA, MEAN = -0.013

DATA (no cut), MEAN = -0.013
DATA (no PID cut), MEAN = -0.013

DUMMY, MEAN = -0.009 ﬁ

i B
i h‘d - Hn‘* “.
< pezechsapists .-r'-'f-‘—“r'“?‘ bf LooveesT v Ly :%Mﬁ?*‘LWﬁhiﬁM—-i b ok g sne
-0.08 -0.06 -0.04 -0.02 0 0.02 0.04 0.06 0.08

0.1



0

— SIMC, INT =86

——— DATA,INT =76

DATA (no cut), INT = 84

———— DATA (no PID cut), INT = 83

DUMMY, INT =0

— SIMC, MEAN =-0.010

——— DATA, MEAN =-0.002

DATA (no cut), MEAN = -0.003

———— DATA (no PID cut), MEAN = -0.002

DUMMY, MEAN = 0.002

‘:ﬁ“ . 1*

Y
B e = L
il Sl A MY "I‘TTQTWTLI IS TR TN O e O B

e,

i o T UR YO MR N O

L

-0.1

-0.08 -0.06

-0.04 -0.02 0

0.02

0.04

0.06

0.08

0.1



3.5

2.5

1.5

0.5

SIMC, INT = 89
DATA, INT = 80

DATA (no cut), INT = 89

DATA (no PID cut), INT = 87
DUMMY, INT =0

SIMC, MEAN = 0.954

DATA, MEAN = 0.942

DATA (no cut), MEAN = 0.943
DATA (no PID cut), MEAN = 0.942

DUMMY, MEAN = 0.955

L T
-~ et Tt
P [ N |_J_. | LoJ..__-l-b,J-‘_—L—-.-L-:k_—l—’r L | | L1 1 | | L 1 | | | | 1 L l L 1 | |

~ IIII|IIII|IIII|IIII|III

0.75 0.8

0.85

0.9

0.95

1

1.05

1.1



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37


